ooooooooooooo

Wi & dunisiaziuugy

=
g.
e
=sb.
2%
2 \
a o L4 v g
@ wudnwaulu ] Tvigndes = |
1) R 2) =
Eal
=
32 +10 = 42 84 - 27 = 57
(32 +10)-8 = 42 - [8] 84 -27) - [21] = 57-21
0) )
9x7 216 +9 = 24
9 x7) - [21] (216 +9) -3 = 24 - [3] A
@& ®
5) 6)
70-19 = 111 45+23 = 6.8
(70 -19) - 13 = 51 - [13] @5+23) -] =168 -]

U8 6 Ameuduaglunasiilavensianu




o Y * * *
e ¢ [EANESHBNTHY . * % Kk uJ &. ‘a/N 1)

@ THauunnIswinng wanuuuiulutaaing

% 4+50 = 54 Fuiu (4+50)-12 = 54 - 12

e "\
1) 6x3 = 18  fedy 6x3)-12 =..18-12

N J

e N N\
2) 7x8 = 56 fetu (7 x8) -25 =.56-25 .

N\ J

( 3 v & 3 )
3) = x5 = 3 PNy (= x5-1 =...3=-1 .

5 5 Y,

® a) ( 90 = 9 - 10 et (90+9)-10 =..10-10 j ®

5) ( mx4 = 20 fatw (mxd) -5 =..20-5. . j

gorduduasunIsaeuIneImansuainallad (aam.)
o)}




=
g.
ac o o E
@ LANIAITUHIAINDUYBIAUNIT LLASRATIVAINDU %L |
~ ™ 2 |
1) 9 + 25 = 70 =
2 |
N Vot 25 = T 2
. . y y o ©
________ 17 25 31AUINUIUYNERUISNONATRMENY = . =
=
_______________ Y+ 25 - 25 = 10 -25 ..
_____________________________ Vo= 8 .
AR RaU WY Y8 45 lwauns_ Y + 25 = 70 .
________ aglg_ 45 + 25 =__ 70 Wuaumsmduase .
________ Py 45 Wufmouuesayns. % + 25 = 70 ..
&
@ 1510} N X CX s
\_ p
. ™
2) 9 + 15 = 105
35911 9 + 15 = 105




